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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
sF2e| it 5,335,676 5,3%,180 A59,504
J| 5,278,180 5,352,180 AT74,000
Al 57,4% 43,000 14,4%
Heas(szdael) 4,848,597 4,922,597 AT74,000
Il 4,848,597 4,922,597 274,000
WRHeH XIS (=2 2el) 4,848,597 4,922,597 74,000
p) 4,848,597 4,922,597 AT4,000
SZIIZAE &X 1,084,000 1,158,000 AT4,000
J| 1,084,000 1,158,000 AT74,000
701 JIEFRIHISEES 1,084,000 1,158,000 AT74,000
J| 1,084,000 1,158,000 274,000
03 BIILELEIAHN=2HES 1,084,000 1,158,000 AT74,000
OEII=AIE &X 1,084,000 1,158,000 AT74,000
—=gX+ 0t=ot+=x X 0 74,000 AT4,000
p) 0 74,000 AT4,000
EREDIZAIE AX(SAIE=) 120,000 120,000 0
Jl 120,000 120,000 0
701 JIEHRIHSEES 120,000 120,000 0
J| 120,000 120,000 0
01 JIEteI AN ES 0 120,000 120,000
OHIIZAIE EX(ZAE =) 0 120,000 120,000
—otx=CEH 2l NS (LHOIXIZ) 0 77,000 AT77,000
Il 0 77,000 AT77,000
—otx=CEF 2 XA (I=XI2) 0 43,000 243,000
J| 0 43,000 243,000
03 BIILEEIAHN=2EES 120,000 0 120,000
OZII=AIE EX(ZAIF =) 120,000 0 120,000
—otx=CEF2el XS (LHOIXIZ) 77,000 0 77,000
Il 77,000 0 77,000
—otx=CEF 2 XN A (I=XI2) 43,000 0 43,000
) 43,000 0 43,000
GlEIEl(=ZohL2tel) 24,179 9,683 14,4%
OiHIEI(=ZHe2el) 24,179 9,683 14,4%6
GidIdl (=ZoH L 2tel) 24,179 9,683 14,4%6
801 oIl 24,179 9,683 14,4%
01 eroilbitl 24,179 9,683 14,4%
Ol 24,179 9,683 14,4%




